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The figures in the margin indicate full marks
' for the questions.
Q No. 1 carries 1 _ﬁzark each | = - 1><12 =1
Q. No. 2 -13 carry 2 marks each o 212 = 24
Q. No. 14 - 23 carry 4 marks each el 4x10 = 40 e
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1. Give very short answers : - e T 1% 1x1.2=12

oS 53 Tex A ¢

(1) What is the essence of Induction? = w e AT X
5N I e {2
(b) Does Analogy depend on Law of Causation ? [ i el

| 'meww‘Tﬁf‘wevﬁ—ﬁ?m?

(¢ What kind of propomtxon does Scientific Inductlon estabhsh '?  1
RS SIS (o e T efh e |

{ (d) ‘The ground of Inductlon is the result of Inducnon ;
g — Who made this statement ? . . [ e o
‘oetE PR SR T

- — A P 22151"5?:‘1? o .

(e) Name the hypothesm with the help of which the planet Neptune was |
g discovered. .- 7 : SRR o “

v ﬁsw«aﬁawmmwwﬁwwt@v

AP~ How many instances are requlred for the Method of Agreement ?
. . ‘ . .. 1

7 Wﬁmﬁmﬂ%@mww?
:(g) Who is the Propounder of Sc1ent1f1c Reahsm ? . e ; 1 .
,_ Ol) : lee an example of anary Quahty | 1
: SPU@«T«* é:ﬁ %wpgq ﬁm] Tt
0 _Gwe an example of Non-Moral echon . :l
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() What is the ideal of Ethics? = - e e
ﬁﬁ%ﬁmmwwﬂ%? |

(k) “Religion is morahty touched with emotlon G A A
— Who said this? = : S T et Jo
ol 2 W TS i
— TR I e
- () - What is meaning of the Latin word ‘Religare”? = - | Ay -'1_
A ‘Religare' 3 oy Re

2. = Give the definition of Unscxenﬁflc Inductmn B - £ : | 2 |
’vwhwﬁﬁ‘mﬁwmwﬁw - ‘
3.  What is ‘material cause’ ? .G1ve an example. R T ‘  1+1=2 ‘
e TR R 9 T R e '
4 Define ’Plurality of Céﬁses' with a suitable exemple. A S 141=2.

: eﬁreqummquwe’w\wﬁm
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e ‘ Menhon two pomts of dlfference between Observatlon and Experlment
- X 2
».ﬁ%ﬁqwmﬁiﬁ‘iﬂﬁfﬂWWl .
i 5. ‘.Why is Eth.lCS called Normatxve Science P 7 | mat R TS AL
--'-Wﬁmwmxﬁ%ﬁwqﬁmw ih s o |
6. lee MlII s defu‘utlon of the Method of Re51due diad :  » T 2 *
o ‘Wﬁﬁmﬁmﬂ\mw«m| S
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Give a concrete exémple of the Joint Method of Agreement and Difference.
| ‘ : iy 2

| oS-l e @5t qree T R
7. Mention any two conditions of a valid.hypothesis. e - g 2
T w R zﬁ’rr\é %@m %ﬁn AL

8. Define voluntary action. How many stages are there in a voluntary
action ? ' ‘ 1+1 2

@ﬁ@ﬁ@ﬁv{a@ﬁmmﬁéﬁ@wmwm? |

9.  Give two points of differences between Pmnary Quahty and Secondary_
‘ Quahty

0 @qm ce“ﬂermasm— L zﬁrm@mm|

10. Give an example of ‘hypothesis concerning Law’. e ol 2
ﬁim ﬁmws s T 4 W‘T )
Or/ 373?7‘
Define ’Wofking hypothesis ' : AL _ . Him
- R e et |

11.- Men’aon the ’Canon of Ehrmnahon on Wh1ch the Method of leference is
established. : Rl : 2

Wﬁﬁﬁfﬁ‘MWﬂm«mWWI '

12. Mennon t'wo characterlstlcs of Naive Reallsm i e ! bR 2

T AR fﬁ@ﬁ%mﬂml
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~ Write two criticisms of Naive Realism. o o Sk

e AR 75 TN SRR
What is the thedry of ‘pre-established hannonyi? IS CEalhd

9531131* © LY@ T 1%?

Write four charactenshcs of Stientific Realism. S e |

@i AT 5190 @Y W

What are the four stages of hypothesis?.Discuss: o PATR Rt i
ereea b1 B3 5 e e S ‘ '

Give four characteristics of Hegel's Objective Idealism. - . 4
(U Y SIA mﬁb‘/hﬁﬁ] ST |

Mention two advantages and fwo dlsadvantages of the Method of Re51due :
‘ DDA

’v{ﬁmﬂamﬁ’ﬁ ﬁ/?{ﬁeﬂw zﬁwqﬁm%ﬁwu
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What is the ’Charactenstlc Imperfection’ of Method of Agreement ? How

can the problem be overcome? - . 2+2—4

‘ Ed] AT wﬁﬁ—wﬁﬁ e uqiiﬁﬁ[ﬁm mmﬁvﬂﬁ?

Write any four charactenstlcs of Analogy. , Aot g

“Positive and Negatwe conchhons both taken together produce the effect
— Explain the statement. = : el

‘me%m«mmmwﬂ
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26.

27.

Or/ 73t 5

‘Define ‘Cause’. Write the Qualitative and Quantita'tive»marks of ’Causef .

. , : +5=6

S e fr | R @qﬁww'ﬂﬁmﬁmwwﬁzm o

What is a ’hypothe51s ? Explam the nature of hypothe51s gl 1+5=6

WWW?WWWW| L
Or/ @&, - = oo .

What are the dlfferent kinds of hypothesis accordmg to Stebbmg ?

Discuss. . - G .

| cﬁﬁmwmﬁmwﬁﬁwww|

State Mill’s canon of the ‘Method of Conconutant Vanatlon Explam the -
limitations of this Method. - 2+4=6

| ﬂ%ﬂﬁ?ﬂ amﬁi Wﬁmﬁa%@wwmi acnﬁﬁawqﬁwﬁ%9

Or/ﬂﬁ?f

Explam the Method of leference with examples e PRI
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